log AL luminance difference =
97 threshold Lg=630cd/nt

- 02 26s R 630cd/fy hyp3

—_— e — -
(|)- 1 5 x=logL




log(L/AL) luminance contrast |, —
o )sensitivity threshold -g~6300d/nt

- 02 26s R 630cd/fy hyp3

—_— e — -
(|)- 1 5 x=logL




L/AL luminance contrast =
sensitivity threshold -9 630cdint

407 02 265 R 630cd/f) hyp3

30T

20T

(1] . e —— s e T

0 1 o5 x=logL




T* luminance difference =
threshold sum Lg=630cd/nt

801 02 26s R 630cd/f) hyp3

60T

401

(1] . e —— e e T

0 1 o5 x=logL




